R6. 1. 15tkEThR2

SH6EE 2ATEFE(EHER) [EXA#18H]) =ETHR 17:30 JIE T ILFE B 24538
=N 1T =3 sc|i& 1234562;?;"’2
HE RS GEDD)

AIE
14
3| A BZEFHFIZFISFMFISHGOXO
3
14
4| w oazgmxzxsmuksxﬁooo
3
14
5 | K |5, 68 : 1 EBULIAER B 22 K1|Kk2|Kk3|K4|Kk5[k6| O| x | O
3
14
6 | & Bz§x17k27k37|<47k5/000
3
14
7|2 Bz§$1$2$3$4$5$6000
3
RIER (@)
NI = O
1
10| A |FhIL—fRHFREA R A zﬁ H1|B2|B3|A4|B5|H6| O | O | O
3
1| X |ZEZSDHE O
14
12| K |[TAMEIFREZIE BAFEEM15:00 A zﬁ K1|Kk2|[K3|/K4|Kk5|k6| O | X | %
3
14
13| K |ZE2D14:30 A zﬁ K1|K2|KR3|K4|K5| | O| O] x
3
14
14| & |AIEKREERER $ESD15:00 A zﬁ K| k2| k3| k4| k5|k6| O | O | %
3
15| = X
16 | B X
ol 8 se|A1|A2|A3|A4|AS|A6| o | o | «
A BRI I EREES
1, 2B BRT RRD 1l merlms| | | | x| x
18 | K| o jasmspyq, _ O|B|2&F X
WY P E11:25-11:35 IR RIS NN
10| k |[L2EEMBRTALD s it fmn|smjux| | | | x| x|,
RYIE110-11:20 BARH A BT A ESA KON NS
1. 25 % BEMHT RO £ PN P T A
2 | K|, Lo A T B[ 2% F#E O] 0|0
234X BRANEEES 32 Err T ¥
1
3E EE=RE x X
22| + [#EKRE (@)
23| B [REH4ER BT/ (@)
24| B [IRBH&®AE = (@)
1 U s U s U s
25| k |34%k8%  EME GRS O|A[ZE| X1 [ K2 | X8| R4 X5 1K6| 5 | 5| 0
3E | X8 |3 | BE | B8 | TE | Ta
26| % A ;g JK1|7Kk2|K3|/K4| k5| k6 ol x | =
RE:3 RRAS E | FE
14
27| K |[BEEE214:30 Al2E| K1 [ R2| A3 |R4IRS| 15l 0]| 0
32 EREAEAAECIES
1
2| & | AT AERE Al2z| BT £2| 83| 84|85 26| o | o | o
A EAE R ERERERES
SC = RT— LAY ES5—%kBKA  A---ABOERBE] B---BEADERKE
SHDFEHFTTE

SEAMREER 4BCOERKRSE SHUKNBERE =2X8 6AMRNFERQ 10BAZEXXFTRE
12B0KZEEXX 2HE2Q) 13~18HAKR~LNHBERK 19H0KNFHEFED 21H@FHERE HEHBE
24B(A#HFERQ 25BCNETH BEREX. FFER0Q




